Sr Questions Answers Choice
A3
1 How many types of logical operators ? (B: 1
D.2
A. escape sequence
2 Which is a combination of backslash (\) and a code character to control printing of data on B. format specified
the screen ? C. character
D. printing
A. precedence
. . . . ) B. rule
?
3 Which of the following tells about which operations should be performed first ? C. sequence
D. random
A. unary
. . . . B. binary
4 Which operator requires three operands respectively to perform the operation ? C. ternary
D. all of these
A. modulusoperators
. . B. binaryoperators
?
5 Which operator returns remainder 7 C. ternaryoperators
D. all of these
A. unary operators
) ) ) . . B. binaryoperators
6 All of arithmetic operators, relational operators and logical operators && and || are: C. ternaryoperators
D. all of these
A. unary
7 Which operators require two operands to perform the operations ? B. binary
’ C. ternary
D. all of these
8 Which is unary operator ?
A. unary
. . B. binary
?
9 Which operators are applied over one operand only ? C. ternary
D. all of these
10 Which operator makes it true, if it is false and false if it true ?
1 Which operator negates or reverses the value of Boolean expression ?
12 Which operator accepts Boolean expression and returns true if at least one of the operands

is true ?



